| Efficiency vs Dxy |

)
X

=
(5]

Ratio

ff LR LT
Posef
Joup
iz

008
s o o

0.2

O

T s T o e o e
002

J--\.Q_IlllilIllillllillllil ! I'I:Illlillllillllillll
1:— -------------------- ------- E--GIIIII%IIII- |||>- ----------------------

09 56-16-10 =6 0 5 10 15 20 25

TP dxy (cm)

—=— /data2/legianni/pareto-opt/restart/CMSSW_14 0_5/src/MTV-plot/DQM_TT__original_PU

| Efficiency vs Dz |

dz

0
>

fficiency

(5]

—e— /data2/legianni/pareto-opt/train_area_forExtraParams/CMSSW_14 _0_5/src/MTV-plot/DQM_T|

0.5
0.4

T
s

e S

e
02 * ........... NS R -

10 20 30
TP dz (cm)

30 =20 -10

T__originalRE



	Contents
	Page 1


